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What are the sine, cosine, and tangent ratios for ZH?

P ; 2
soLuion [EEEESPARFERE =5 = Sink = Is
pe 1=
Cos H = )35":? Cos F= )5
2 a
'E.Anpl—_lzi_?‘% Eon F =75



A. What are the sine, cosine, and tangent ratios for 30°, 45°, and 60°

angles?
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How are the sine and cosine of complementary angles related?



In AAFGH, what is the value of y? F 2 oD
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3. b. How can you write an equivalent expression for cos 70° using sine? An
equivalent expression for sin 34° using cosine?

(oo 70°= Sin 6° LN = coo SL°
TG 5—
.Y



A plane takes off and climbs at a
12° angle. Is that angle
sufficient enough to fly over an
11,088-foot mountain that is
12.5 miles from the runway or
does the plane need to increase
its angle of ascent?

Draw a right triangle to
represent the situation.
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What are mZA and mZB?
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7. Use A ABC to find the trigonometric ratio for

tan B. -
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8. Use A ABC to find the trigonometric ratio for
cos B.

9. Use /A ABC to find the trigonometric ratio for
sin A.
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10. Use A ABC to find the trigonometric ratio A

for tan A. B
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13. What are the sine and cosine of the smallest
angle in the right triangle shown?

14. What is the measure of the largest acute
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